
N5 Maths: Linear Inequalities  
 

 

 

This resource is copyright © Maths.scot, released under a Creative Commons "Attribution, Non-Commercial, No Derivatives" (CC BY-NC-ND 4.0) licence. 

 
Non-calculator. Solve each inequation. Remember to change the inequality sign if multiplying or dividing 

by a negative number, or if you need to ‘swap sides’ at the end. For example, 4 < 𝑥 becomes 𝑥 > 4. 

 

Q1  a) 3𝑥 < 15 b) 4𝑥 > −12 c) −2𝑥 < 10  

  d) −3𝑥 > −18 e) 2𝑥 ≤ 1 f) 3𝑥 ≥ 2 

  g) −𝑥 > 5 h) 3 > 𝑥 i) 5 ≤ 2𝑥 

  j) −2𝑥 < 7 k) 8 ≤ −2𝑥 l) 6 ≤ −𝑥 
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Q2  a) 2𝑥 + 7 < 15 b) 4𝑥 − 1 ≤ 11 c) 5 + 3𝑥 ≥ −1 

  d) −𝑥 + 7 > 1 e) −3𝑥 + 2 > 14 f) 4 − 3𝑥 < 16 

  g) 5 − 𝑥 ≤ −1 h) −6𝑥 + 19 > 1 i) 9 + 2𝑥 ≤ 15 
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Q3  a) 5𝑥 + 1 > 3𝑥 − 9 b) 2𝑥 − 3 ≤ 7𝑥 − 18 c) 2 + 3𝑥 < −𝑥 + 14  

  d) 6 − 𝑥 < 𝑥 + 12 e) 4𝑥 + 1 ≥ 𝑥 + 9 f) 5 − 3𝑥 ≥ −6𝑥 + 4 

  g) −2𝑥 + 3 ≤ 𝑥 + 4 h) 2𝑥 + 1 > 9 − 𝑥 i) 1 + 3𝑥 < 7𝑥 + 6 
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Q4  a) 2(𝑥 + 1) > 5𝑥 − 7 b) 3(4 − 2𝑥) + 𝑥 ≤ −13 c) 3 − 2(𝑥 + 1) < 11  

  d) 6𝑥 ≥ 5 − 2(4 − 𝑥) e) 6(𝑥 − 1) > 2(4𝑥 + 1) f) −2(𝑥 + 1) < 7(2 − 3𝑥) 
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